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Book key
1	 Open answers
2	 a	 He is a detective.
	 b	 On Dartmoor (the wild moors of south-west 

England).
	 c	 Sir Charles Baskerville died mysteriously.
	 Watson is Holmes’s colleague and friend.
	 Selden is an escaped prisoner.
	 Stapleton is a strange naturalist who lives on 

Dartmoor with his sister.
	 Barrymore is a servant at Baskerville Hall.
	 Sir Henry Baskerville has been left Baskerville Hall by 

his uncle.
3	 a	 black sheep, naturalist, tribe
	 b	 cigar, dressing gown
	 c	 mire, moor, yew
	 d	 despair, grief, suspicion
4	 a  Dr Mortimer  b  Hugo Baskerville
	 c  Hugo Baskerville  d  Sir Charles Baskerville
	 e  Barrymore  f  Sir Charles Baskerville, Dr Mortimer
	 g  Stapleton  h  Sir Charles Baskerville
	 i  Sir Henry Baskerville  j  Rodger Baskerville
5	 a	 Dr Mortimer shows Holmes papers from the 

1700s which tell the story of Hugo Baskerville and 
the hound.

	 b	 The girl used a thick climbing plant to escape from 
Baskerville Hall.

	 c	 The bodies of Hugo Baskerville and the girl were 
found in a hollow in the ground. 

	 d	 A large dog chased and killed Hugo Baskerville.
	 e	 Sir Charles Baskerville suffered from heart disease. 

His death, therefore, was believed to be due to 
natural causes.

	 f	 Sir Charles Baskerville made a lot of money in 
South Africa. Sir Henry Baskerville was working 
in Canada when he heard the news of his uncle’s 
death.

6	 Sir Charles lived alone in Baskerville Hall with Mr 
and Mrs Barrymore, his servants. He was not in good 
health and had a reputation in the neighbourhood for 
generosity. One summer’s night, after announcing his 
intention to travel to London the next day, Sir Charles 
went for his usual quiet walk down Yew Avenue, but 
never returned. When Dr Mortimer saw the body, 
he did not recognise his friend’s face at first because 
there was a terrible, twisted expression on it.

7	 a	 Answers should include the following points: 
		  He died in Yew Avenue, outside Baskerville Hall. 
		  He was afraid to walk alone on the moors. 
		  There was cigar ash on the ground by the gate. 
		  People think that he died of natural causes. 
		  His body was found by Barrymore. 
		  There was no sign of violence. 
		  There was a terrible expression on his face. 
		  His footprints changed. 
		  There were footprints of a gigantic hound near the 

body.
	 b	 Both were (possibly) killed by a gigantic hound.
8	 Open answers
9	 a  ✗  b  ✗  c  ✓  d  ✗  e  ✓  f  ✗  g  ✗  h  ✗
	 i  ✗  j  ✗ 
10	 a	 The words in the letter have been cut from it. 
	 b	 Holmes’s specialist knowledge of print helps him  

to tell the difference between the print used by  
The Times and other newspapers.

	 c	 The handwriting on the envelope looks rough 
and uneducated, but Holmes knows that it was 
sent by an educated person who reads The Times. 
Therefore Holmes believes that the message was 
sent by someone pretending to be uneducated.

	 d	 While staying at his hotel, Sir Henry loses one 
new boot and one old boot. The new boot is later 
returned.

	 e	 A man with a black beard follows Sir Henry in a 
cab.

	 f	 Sir Henry received £740,000 when his uncle died. 
	 g	 Selden, the Notting Hill murderer, has escaped 

from a prison on Dartmoor.
	 h	 Watson hears the sound of a woman crying at 

night.
11–13  Open answers
14	 a  5  b  7  c  4  d  2  e  6  f  1  g  8  h  3  i  9 
15	 a	 Sir Henry is angry with Barrymore for sending 

signals to Selden, but cannot blame him for 
supporting his wife. Barrymore is probably afraid  
of Sir Henry, which is why he does not trust him 
with the secret of his wife’s brother.

	 b	 Sir Henry loves Beryl, and Beryl seems to care for 
him – she does not want him to be hurt. 

	 c	 Mrs Barrymore is loyal to her brother and wants to 
help him. Selden depends on his sister for help.



The Hound of the Baskervilles

pearsonenglishreaders.com  © Pearson Education Limited 2016	 The Hound of the Baskervilles - Answer keys    2 of 4

Answer keyslevel 5 Teacher Support Programme

level 2

level 3

level 4

level 5

level 6

easystarts

	 d	 Stapleton is angry with her at first for letting Sir 
Henry fall in love with her, but seems to change 
his mind later. Beryl seems afraid of Stapleton 
for some reason, because she tries to keep her 
meetings with Sir Henry secret. 

	 e	 Sir Henry thinks that Stapleton is mad. Stapleton 
is angry with Sir Henry for loving Beryl. However, 
they both seem ready to behave politely to each 
other.

16	 a	 He is signalling to Selden, the escaped prisoner.
	 b	 He wants to meet Beryl in secret.
	 c	 He apologises for being angry with him earlier for 

meeting Beryl in secret.
	 d	 They are listening for footsteps in the passage.
	 e	 They are trying to find Selden.
17–18  Open answers
19	 a  a woman.  b  Dr Mortimer.  c  the truth.
	 d  friend.  e  find a dead body.  f  a fall.
20	 a	 Barrymore’s wife finds a piece of a burnt letter in 

Sir Charles’s room with the initials ‘LL’ on it.
	 b	 Holmes has been hiding in an old stone hut on the 

moor so that he can observe events without being 
noticed.

	 c	 Holmes discovers from old school records that 
Stapleton and Beryl used to be teachers and that 
they are really husband and wife.

	 d	 Selden is wearing old clothes that Sir Henry had 
given Barrymore. As a result, Holmes and Watson 
think at first that Selden’s body is really Sir Henry’s.

21–23  Open answers
24	 a  Stapleton  b  his carriage  c  go to London 
	 d  Stapleton’s marriage  e  Lestrade
	 f  a mist  g  phosphorus  h  Sir Henry
	 i  Sir Henry’s old, black boot  j  Beryl 
25	 Sir Henry is happy because the mystery is solved, 

the hound is dead and it is safe for him to live in 
Baskerville Hall.

	 Stapleton is dead.
	 It is unclear how Beryl feels. She might be happy if  

Sir Henry is still interested in her.
	 It is unclear how Laura Lyons feels. She might be 

happy that she has had revenge on Stapleton, but she 
is probably angry that his love for her was false.

	 The Barrymores are probably sad that Selden is dead.

26	 a	 Holmes recognises Stapleton’s features in the 
picture of Hugo Baskerville.

	 b	 The photograph proves to Laura Lyons that 
Stapleton and Beryl are husband and wife.

	 c	 Holmes and Watson hide behind rocks to watch 
Merripit House.

	 d	 Holmes realises that Stapleton stole Sir Henry’s old 
black boot to give the hound Sir Henry’s smell.

	 e	 Holmes finds this on the island in the Mire where 
Stapleton kept the hound. It proves that Stapleton 
used it to make the hound shine like a ghost.

27–37  Open answers 

Discussion activities key
1–2  Open answers
3	 Suggested answer:
	 a	 Conan Doyle was British (Scottish)
	 b	 He was a ship’s doctor
	 c	 32
	 d	 To work as a doctor in the Boer War
	 e	 In the Strand Magazine
	 f	 Historical books, science fiction books, reports on 

his war experiences and spiritualism.
	 g	 He developed an interest in spiritualism.
	 h	 In 1930. He was 61.
4	 Suggested answer: It creates suspense. 
5	 Suggested answer: 
	 A terrible thing standing over Hugo biting his throat.
	 Many Baskervilles had sudden, violent and mysterious 

deaths.
	 Sir Charles ran away from the Hall instead of coming 

back to the Hall.
6	 Open answers
7	 Suggested answer:
	 a	 Because of the Powers of Evil.
	 b	 He was friendly and generous.
	 c	 The Barrymores and Dr Mortimer.
	 d	 Because his face was twisted.
	 e	 Because Sir Charles’s footprints looked as if he had 

been walking on his toes.
8	 Suggested answer:
	 Sir Charles took the story of the curse seriously, 

nothing would persuade him to go out on the moor  
at night, etc.

9	 Open answers
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10	 Suggested answer:
	 His knowledge of printing types helped him come to 

the conclusion that the cut out words had been taken 
from The Times. Then the writer must be a well-
educated person. The words are not in a straight line. 
This means that the writer was in a hurry, etc.

11–17  Open answers
18	 Suggested answer:
	 Sir Henry meets Miss Stapleton in the moor and 

wants to be alone with her. But both Stapleton and 
Watson follow them. Sir Henry cannot understand 
why Mr Stapleton gets so angry with him when he 
finds Miss Stapleton and Sir Henry together.

19–20  Open answers
21	 Suggested answers:
	 a	 At this time of the year, after the rains, the mire is 

a kind of muddy green pool. Animals are dragged 
down into it.

	 b	 She thought he was Sir Henry.
	 c	 The moor was full of interesting animals, insects, 

plants, etc.
	 d	 He was going to meet Miss Stapleton.
	 e	 Stapleton shouted at Sir Henry when he found his 

sister and Sir Henry together in the moor.
	 f	 Mr Barrymore passed by. He would stand at a 

window with a light in his hand.
	 g	 The prisoner was Mrs Barrymore’s younger 

brother. He was tired and hungry and the guards 
were hunting him.

	 h	 They walked towards the yellow point of light 
burning in the moor.

	 i	 He was muddy, bearded, surrounded with wild 
hair.

	 j	 It reminded him of the dark story of his family.
22	 Suggested answers:
	 Yes, he will go immediately because:
	 He has promised to.
	 He is very interested in difficult cases.
	 No he will not go because: 
	 He is already there. 
	 He is busy working out the solution.
23	 Suggested answer:
	 Watson is a very sensible person. His common sense 

is very clearly noticed. He does not believe in strange 
creatures that are outside the ordinary laws of nature. 
But there are some facts that confuse him. 

24	 Open answers 

25	 Suggested answers:
	 Laura Lyons – pretty, anxious, sad
	 Mr Stapleton – cunning, deceitful, patient
26–29  Open answers 
30	 Suggested answer:
	 Lestrade can help by protecting Holmes and Watson. 

He can arrest the suspect once they have facts to 
back their guesses. He can also frighten some people 
in the area so that they say all they know. 

31–34  Open answers

Activity worksheets key
1	 a	 doctor
	 b	 because his friend, Sir Charles
		  Baskerville, has just died.
	 c	 wild and cruel man
	 d	 a girl across the moor
	 e	 standing over them
	 f	 dead
2	 a  2  b  6  c  4  d  1  e  7  f  3  g  5
3	 a	 long > short
	 b	 to put an end to foolish stories > to carry on Sir 

Charles’s good work
	 c	 There Sir Charles would get stronger. > There 

after a few months among the pleasures of London 
he would come back a new man.

	 d	 an unnatural death > from natural causes
	 e	 his face was covered with mud > his face was very 

twisted
4	 a	 Dr Mortimer speaking to Sherlock Holmes about 

James Desmond, who would inherit Baskerville Hall 
if anything happened to Sir Henry.

		  Dr Mortimer said that he was quite old and was a 
man of good life and simple tastes.

	 b	 Sherlock Holmes talking to Dr Mortimer about 
being followed from Holmes’s house to the hotel.

		  Holmes asked Dr Mortimer if he knew that he had 
been followed from Holmes’s house.

	 c	 Sherlock Holmes speaking to Dr Watson about the 
person responsible for the murder.

		  Sherlock Holmes said that this time they had an 
enemy worth fighting.

5	 a	 Watson. He doesn’t understand why Holmes reads 
out an article on Free Trade from The Times when 
trying to find out who wrote the letter Sir Henry 
has received
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	 b	 Dr Mortimer because Holmes thinks that the 
person who wrote the letter for Sir Henry did 
so in a hurry because he probably feared an 
interruption.

	 c	 Holmes to Watson because he thinks they must 
follow Sir Henry and Dr Mortiner on their way 
back to the hotel.

	 d	 Sir Henry to Holmes because now one of his black 
boots has disappeared

	 e	 The carriage driver to Watson, Sir Henry and  
Dr Mortimer because a prisoner has escaped from 
jail.

6	 a  breakfast  b  crying  c  walk  d  moor
	 e  meets  f  surprises  g  death  h  chases
	 i  mire  j  foothold  k  Sir Henry
	 l  back to London  m  footsteps  n  plan
7	 a	 F. He is her younger brother.
	 b	 F. They go onto the moor to catch the prisoner.
	 c	 F. They think they hear a hound.
	 d	 T
	 e	 T
8	 a	 Because he sees the cigarette that Watson threw 

away.
	 b	 It was Sherlock Holmes.
	 c	 Because he thinks that he can use her to lure  

Sir Henry onto the moor if Sir Henry falls in love 
with her and thinks that she is not married.

	 d	 Sherlock Holmes.
	 e	 The escaped prisoner. Because he is wearing  

Sir Henry’s clothes that Barrymore gave him.
	 f	 Because he does not show his surprise that the 

wrong man has been killed.

9	 Open answers
10	 a  2  b  5  c  7  d  10  e  8  f  1  g  6  h  11
	 i  9  j  4  k  3
11	 a	 He was Sir Charles’s nephew.
	 b	 He was killed by fear.
	 c	 He wanted to give the hound a scent to follow, but 

Sir Henry had not worn the new boot so there 
was no scent, so Stapleton stole the old boot.

	 d	 So that Stapleton would not be suspicious.
	 e	 So that Sir Henry would go to Merrypit House and 

give Stapleton the opportunity to kill him.

Progress test key
1	 a  3  b  4  c  1  d  5  e  2
2	 a  3  b  8  c  1  d  10  e  7  f  9  g  5  h  2
	 i  6  j  4
3	 a	 Mr Stapleton
	 b	 Sir Henry
	 c	 Watson
	 d	 Miss Stapleton
	 e	 Mr Barrymore
4	 a  1  b  3  c  2  d  2  e  3
5	 a  T  b  F  c  F  d  T  e  T


